| dE/dx estimator 1 |

h_dedx_estim1

0.25

0.2~

0.15

......................................................................

Entries 498753
Mean 3.018

Std Dev 1.075

' h_de'dx_est'iml

Entries 498753
Mean 3.018
Std Dev 1.075

...............................................

Ratio

=
TT T T T T 1T

0.95

o

dE/dx, harm?2

| dE/dx estimator 2 |

0.3

0.25

0.2

0.15

h_dedx_estim2
Entries 498753
Mean 2.836
Std Dev 1.065

' h_dedx_estimZ |
Entries 498753
Mean 2.836
Stq Dev_ i 1.065

...................................................

dE/dx, trunc40

—e— DQM_V000

1_R000000001__Global__CMSSW_X_Y_Z__ all

—=— DQM_V0001_R000000001__Global _CMSSW_X_Y_Z_ allNODNN

| satl

0.03

0.02

['I'1'l'|"|'|'r'I'1'I'|"I'|'r'|'1'l'|"l' T T Tkl

0.01:

............................................

ENtries
Mean
Std Dev

498753
7.612
4.962

h_dedx_nom1l

Entries 498753
Mean 7.612

Std Dev 4.962

o

Rati

- N
unuuluulllll”

k-

0.95%

1 IIITIHII!IIIIII””

%0 10 20 30 40 50 60 70 80

dE/dx number of measurements

0.7

0.5

0.1

o+

Rati
=

0.95

dE/dx

0.6}
0.4}

0.3}

0.2}

0 10 20 30 40 50 60 70 80

498753
0.3952
0.7119

h_dedx_satl |
Entries 498753
Mean 0.3952
Std Dev 0.7119

ENtries
Mean
Std Dev

T

=TT

T T

|

4

k-

number of measurements with saturation



	Contents
	Page 1


